‘ EI = A .z‘ tilfojelse af breker (korrekt brek) (forkert brek)

Navn: Dato: Score:
1 5 1 3
_+ = — 4+ - =
4 2 8 5
2 5 6 3
—_+ = — 4 - =
6 3 5 2
6 1 5 5
4 9 3 4
4 7 5 4
3 4 3 9
1 5 1 6
3 6 9 7
1 7 4 7
9 6 8 6
4 4 2 4
-+ — = — 4 - =
9 9 8 6
7 3 2 7
—+ = — 4 - =
9 5 6 3
7 7 5 5
— 4+ - = — 4 - =
3 6 7 4
6 1 3 3
— 4+ - = — 4+ - =
7 8 9 4
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‘ EI % A .zs tilfojelse af breker (korrekt brak) (forkert brak)

Navn: Dato: Score:
1 5 11 3 1 3 29
S+I=_—=92 —+I=2

4 2 4 4 8 5 40

2 5 6 3 27

—+ =2 4+ =" =9
6 3 5 2 10 10
6 1 29 11 5 5 35 11
e 4+t ="=p
4 9 18 18 3 4 12 12
4 7 37 1 5 4 19 1
~—t+-=-—==3— —+—=—=2-
3 4 12 12 3 9 9 9
1 5 7 1 6 6l
—+i=—=]- Sy =—

3 6 6 9 7 63

1 7 23 5 4 7 5 2
—F+—-=—=1— —Ft —===1=
9 6 18 18 8 6 3 3
4 4 8 2 4 11

-+ - = — ==

9 9 9 8 6 12

7 3 62 17 2 7 8 2
== S4l=2-72
9 5 45 45 6 3 3 3
7 7 | 5 5 55 27
lp = =3 e e
3 6 2 2 7 4 8 28
6 1 55 3 3 13 1
—+ - = — -+ —-=—=1-—
7 8 5 9 4 1 12
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